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The figures in the right hand side margin indicate marks. 

  Candidates are required to give their answers in their own words 
as far as practicable. 

˜!Çþ” ²Ìyhsýßi ¤‚‡Äy=!¡ ²ÌöìÙÀîû þ›)”Åôyöìlîû !löì˜Å¢†þÐ 
þ›îû#ÇþyíÅ#öì˜îû ëíy¤½þî !löì?îû èþy£ìyëû ’þz_îû !˜öì•þ ¥öìîÐ 

       Answer any 20 of the following. 20×2=40 

       öë ö†þyöìly þ†%þ!’þü!Øþ  ²ÌöìÙÀîû ’þz_îû ˜yG Ð 

 1. What is the definition of range? 

  ²Ì¤yîû †þyöì†þ îöì¡Ú 

   (a) Maximum value + Minimum value 

    ¤îÅy!™†þ ôyl + ¤îÅ!lÁ¬ ôyl  
   (b) Maximum value – Minimum value 

    ¤îÅy!™†þ ôyl – ¤îÅ!lÁ¬ ôyl 

   (c) Maximum value × Minimum value 

    ¤îÅy!™†þ ôyl × ¤îÅ!lÁ¬ ôyl 

   (d) Maximum value / Minimum value 

     ¤îÅy!™†þ ôyl / ¤îÅ!lÁ¬ ôyl 

 2. Standard deviation is independent of 

  ¤ôÄ†þ !î‹%þÄ!•þ ô%_« ¥ëû 

   (a) change of origin 

    ’þzê¤ þ›!îûî•Åþöìlîû öíöì†þ 

   (b) change of origin and change of scale 

    ’þzê¤ þ›!îûî•Åþl ~î‚ ößñ¡ þ›!îûî•Åþöìlîû öíöì†þ 

   (c) change of scale 

    ößñ¡ þ›!îûî•Åþöìlîû öíöì†þ 

   (d) None of the above 

    þ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëûÐ  
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 3. Find out the S.D. for the following table: 

  !lÁ¬!¡!‡•þ •þy!¡†þy öíöì†þ ¤ôÄ†þ !î‹%þÄ!•þîû ôy¡ !l”Åëû †þöìîûy / 4 6 8 15 23 9 7 3 ݂ 75 65 55 45 35 25 15 5 ݔ 

   (a) 16·9 
   (b) 15·2 
   (c) 17·9 
   (d) 17·5 

 4. For a group of 50 boys the mean score on a test is 59·5 For a group of 40 girls the corresponding 
score is 54·0. Find the mean of the combined group of 90 children. 

  50 ?l îy¡öì†þîû ~†þ!Øþ ˜öì¡îû ~†þ!Øþ þ›îû#Çþyîû ˆ’þü ôyl 59·5 ~î‚ 40 ?l îy!¡†þyîû ú þ›îû#Çþyîû ˆ’þü ôyl 54·0Ð  
90 ?öìlîû ~†þöìe ú þ›îû#Çþyëû ²Ìy® lÁºöìîûîû ˆ’þü !l”Åëû †þöìîûyÐ 

   (a) 58·06 

   (b) 58·5 

   (c) 55·2 

   (d) 57·06 

 5. What is relative frequency? 
  xyöìþ›!Çþ†þ !æÊþöì†þyöìëû!ª †þyöì†þ îöì¡Ú 

   (a) Total frequency / class frequency  
    öôyØþ !æÊþöì†þyöìëû!ª / ö×!” !æÊþöì†þyöìëû!ª 

   (b) Class frequency + total frequency  
    ö×!” !æÊþöì†þyöìëû!ª + öôyØþ !æÊþöì†þyöìëû!ª 

   (c) Class frequency / total frequency  
    ö×!” !æÊþöì†þyöìëû!ª / öôyØþ !æÊþöì†þyöìëû!ª 

   (d) Class frequency – total frequency 
    ö×!” !æÊþöì†þyöìëû!ª – öôyØþ !æÊþöì†þyöìëû!ª 

 6. Which of the following is a diagrammatic representation of frequency distribution? 

  !löìÁ¬îû ö†þyl!Øþ þ›!îû¤‚‡Äyîû !‹þeÚ 

   (a) Histogram 

    !¥öìÞØþy@ýÌyô 

   (b) Frequency polygon 

    þ›!îû¤‚‡Äy îàè)þ? 

   (c) Ogive 

    G?y¥zèþ 

   (d) All of the above 

    ’þzþ›öìîûîû ¤î†þ!Øþ¥z 
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 7. The number of telephone calls received in 245 successive one minute intervals at an exchange are 
shown in the following frequency distribution: 

  !lÁ¬!¡!‡•þ •þy!¡†þyöì•þ 1 !ô!löìØþîû îÄî™yöìl ²Ìy® öØþ!¡öìæþyöìlîû þ›!îû¤‚‡Äy !îî,•þ ¥¡ / 

No. of calls 0 1 2 3 4 5 6 7 Total 

Frequencies 14 21 25 43 51 40 39 12 245 

  Evaluate the mode: 

  ¤‚‡Äy=îû& ôyl !l”Åëû †þöìîûy / 

   (a) 3·8 

   (b) 4·2 

   (c) 4 

   (d) 4·1 

 8. If ݕ௜ = ௫೔ି஼ௗ  (where ܿ and ݀ are constants), then ̅ݔ = 

  ë!˜ ݕ௜ = ௫೔ି஼ௗ  Œöë‡yöìl ܿ ~î‚ ݀  ™Ê&î†þîûy!¢Š •þy¥öì¡ ̅ݔ = 

   (a) ̅ܥ +  തݕ̅݀

   (b) ܥ +  തݕ݀

   (c) ݀ +  തݕܥ

   (d) ݀ −  തݕܥ

 9. If the correlation coefficient between ݔ  and ݕ  is ·5, what would be the correlation coefficient 
between 5ݔ and −3ݕ? 

  ë!˜ ݔ G ݕ ~îûþ ôöì™Äîû ¤¥þ›!îûî•Åþl =”yöìBþîû ôyl ·5 ¥ëû– •þy¥öì¡ 5ݔ G −3ݕ ~îû ôöì™Äîû ¤¥þ›!îûî•Åþl =”yöìBþîû ôyl 
†þ•þ ¥öìîÚ 

   (a) ·5 

   (b) 1 

   (c) –·5 

   (d) –1 

 10. What is ܾ௫௬? 

   ܾ௫௬ †þyöì†þ îöì¡Ú 

   (a) ݎ ఙೣఙ೤ 

   (b) ݎ ఙ೤ఙೣ 

   (c) ߪݎ௫ߪ௬ 

   (d) ߪ)ݎ௫ −  (௬ߪ



SP/ECO-304/SEC-1/19 ( 4 ) 

 11. What is the regression equation of ݕ on ݔ? 

 îû ²Ì!•þˆôl öîû‡y!Øþöì†þ !lÁ¬!¡!‡•þ ö†þyl ¤ô#†þîû”!Øþ !löì˜Å¢ †þöìîûÚ~ ݔ îû Gþ›îû~ ݕ  

   (a) ݕ + തݕ = ܾ௬௫(ݔ −  (ݔ̅

   (b) ݕ − തݕ = ܾ௫௬(ݔ −  (ݔ̅

   (c) ݔ − ݔ̅ = ܾ௬௫(ݔ −  (ݔ̅

   (d) ݕ − തݕ = ܾ௬௫(ݔ −  (ݔ̅

 12. State whether you would expect to find the type of correlation for the following case. Insurance 
companies, profit and the number of claims they have to pay 

  !lÁ¬!¡!‡•þ öÇþöìe ö†þylä ²Ì†þyöìîûîû ¤¥þ›!îûî•Åþl ¡ÇþÄ †þîûy ëyëûÐ î#ôy ö†þyÁ›y!lîû ¡yèþ ~î‚ •þyöì˜îû ²Ìöì˜ëû ö†Ïþô ~îû ¤‚‡Äy 

   (a) Positive 
    ™lyd†þ 

   (b) No correlation 

    ö†þyl ²Ì†þyîû ¤¥þ›!îûî•Åþl öl¥z 

   (c) Negative 

    }”yd†þ 

   (d) None of the above 

    ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû 

 13. Calculate the correlation coefficient from the following results: 

  !lÁ¬!¡!‡•þ ôyl=!¡ öíöì†þ ¤¥þ›!îûî•Åþl =”yöìBþîû ôyl !l”Åëû †þöìîûy / ∑ ௜ݔ =ଵ଴଴௜ୀଵ 280, ∑ ௜ݕ =ଵ଴଴௜ୀଵ 60, ∑ ௜ଶଵ଴଴௜ୀଵݔ = 2384, ∑ ௜ଶݕ = 117 ෌ ௜ଶଵ଴଴௜ୀଵݕ = 117, ∑ ௜ݕ௜ݔ = 438ଵ଴଴௜ୀଵଵ଴଴௜ୀଵ . 

   (a) ·7 

   (b) ·75 

   (c) ·8 

   (d) ·82 

 14. Classify “religion of a student” in statistical data collection. 

  òòö†þyl Séyöìeîû ™ôÅóó †þ# ²Ì†þyöìîûîû îûy!¢•þíÄÚ  

   (a) Attribute 

    =”ˆ•þ 

   (b) Discrete variable 

    !î!FSé§¬ ‹þ¡îûy!¢ 

   (c) Continuous variable 

    !lîû!î!FSé§¬ ‹þ¡îûy!¢ 

   (d) Discrete and continuous both 

    !î!FSé§¬ ~î‚ !lîû!î!FSé§¬ ‹þ¡îûy!¢ 
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 15. What are the types of statistical data? 

  îûy!¢•þíÄ †þ# †þ# ²Ì†þyöìîûîû ¥ëûÚ  

   (a) Primary and private data 

    ²Ìyí!ô†þ ~î‚ îÄ!_«ˆ•þ •þíÄ 

   (b) Primary and secondary data 

    ²Ìyí!ô†þ G x²Ìyí!ô†þ •þíÄ 

   (c) Sample and primary data 

    lô%ly ~î‚ ²Ìyí!ô†þ •þíÄ  

   (d) Sample  and secondary data 

    lô%ly ~î‚ x²Ìyí!ô†þ •þíÄ 

 16. What is the width of a class? 

  ö×!”îû ÷˜‰ÅÄ †þyöì†þ îöì¡Ú 

   (a) Lower class boundary × Upper class boundary 

    !lÁ¬ ö×!” ¤#ôyly × ’þzF‹þ ö×!” ¤#ôyly 

   (b) Upper class boundary + Lower class boundary 

    ’þzF‹þ ö×!” ¤#ôyly + !lÁ¬ ö×!” ¤#ôyly  

   (c) Upper class boundary – Lower class boundary 

    ’þzF‹þ ö×!” ¤#ôyly – !lÁ¬ ö×!” ¤#ôyly 

   (d) Upper class boundary / Lower class boundary 

    ’þzF‹þ ö×!” ¤#ôyly / !lÁ¬ ö×!” ¤#ôyly 

 17. Moment measure of skewness is 

  Skewness Œ!•þëÅ†þ•þyŠ ~îû moment þ›!îûôyþ› ¥¡  

   (a) 
௠యఙయ  

   (b) 
௠రఙమ  

   (c) 
௠రఙర − 3 

   (d) 
௠మఙమ  

 18. What is the range of a correlation coefficient (r)? 

  ¤¥ˆyöìBþîû ôyöìlîû !îhßìyîû †þ•þÚ  

   (a) – 1 ≤ ݎ ≤ 1 

   (b) −1 < ݎ ≤ 1 

   (c) −1 ≤ ݎ < 1 

   (d) −1 < ݎ < 1 
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 19. If the record of amounts spent a person you on various earnings gives a coefficient of variation of 
50 per cent and a standard deviation of  ` 4, what was your average expenditure? 

  !î!î™ !î£ìöìëû ~†þ?l ö¡yöì†þîû ‡îûöì‹þîû !îhßìyîûyBþ ë!˜ 50 ¢•þy‚¢ ¥ëû ~î‚ ¤ôÄ†þ !î‹%þÄ!•þ ë!˜ 4 Øþy†þy ¥ëû– ö¤öìÇþöìe ú 
ö¡yöì†þîû ˆ’þü îÄëû †þ•þ ¥öìîÚ 

   (a) 7 

   (b) 9 

   (c) 8 

   (d) 8·5 

 20. Find the mean deviation of the following series: 

  !lÁ¬!¡!‡•þ •þy!¡†þy öíöì†þ ˆ’þü !î‹%þÄ!•þîû ôyl !l”Åëû †þöìîûy / 

x 10 11 12 13 14 total 

frequency 3 12 18 12 3 48 

   (a) ·85 

   (b) ·65 

   (c) ·95 

   (d) ·75 

 21. From the following data calculate the first quartile: 

  !lÁ¬!¡!‡•þ •þy!¡†þy öíöì†þ ²Ìíô ‹þ•%þíÅy‚¢ì†þéŸé~îû ôyl !l”Åëû †þöìîûy 

x 0–5 5–10 10–15 15–25 25–35 35–60 60–80 

frequency 12 30 51 84 66 50 7 

   (a) 12·24 

   (b) 13·24 

   (c) 14·24 

   (d) 15·24 

 22. If Arithmetic Mean = 26·8, Median = 27·9, what is the value of Mode? 

  öëï!ˆ†þ ˆ’þü = 26·8– ô™Äôy = 27·9 ¥öì¡ ¤‚‡Äyˆ!îûÛþéŸé~îû ôyl †þ•þ ¥öìîÚ 

   (a) 32·53 

   (b) 29·87 

   (c) 30·1 

   (d) 32·4 
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 23. A person goes from A to B on cycle at 20km/hour and returns at 24 km/hour. Find out the average 
speed of the person. 

  ~†þ îÄ!_« ¤y¥zöì†þöì¡ A öíöì†þ B ö•þ ëyëû 20 !†þ!ô ²Ì!•þ ‰rØþy ˆ!•þöìîöìˆ ~î‚ !æþöìîû xyöì¤ 24 !†þ!ô ²Ì!•þ ‰rØþy ˆ!•þöìîöìˆÐ 
ú îÄ!_«îû ˆ’þü ˆ!•þöìîˆ †þ•þÚ 

   (a) 22 

   (b) 20 

   (c) 21·82 

   (d) 23 

 24. When was the 1st census conducted in India? 

  èþyîû•þîöì£ìÅ ²Ìíô ?lˆ”ly †þ•þ ¤yöì¡ ¥öìëû!Sé¡Ú 

   (a) 1881 

   (b) 1891 

   (c) 1880 

   (d) 1871 

 25. What are the two main government organisations in India responsible for data collection? 

  èþyîû•þîöì£ìÅîû ö†þyl ˜%!Øþ ¤îû†þy!îû ¤‚ßiy •þíÄ¤‚@ýÌöì¥îû ¤yöìí ë%_«Ú 

   (a) RBI and CSO 

   (b) CSO and NSSO 

   (c) RBI and NSSO 

   (d) ASI and NSSO 

_________ 


